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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

R - gﬁ qTaY fraes aeT 'gﬂ?fl’ %" Question ID : 9864493245

- Status : Answered
One horse power is:

x 1 T647TE
764 watts

x , 786d1€
786 watts

x 5 T68d1e
768 watts

v Ta6dlE
746 watts

Chosen Option : 1

Ans

Q.2 g & Rt 7 goR e seremfEat 7§ w AT Kilavea)sarargd!
W ¥ W Fer FRud &

One of the most destructive volcanoes in recent times has been the Kilauea volcano.
Where is it located? Chosen Option : 3

Ans x ¢ T

Vietnam

SlIG)
2

' Japan

X3FQFT

Span

BTS

Hawait

R T r— - ¥ FlT & adt ZAHAT YT L7 Question ID : 9864492860

Which of the following will yield a recurring decimal? SIS <]
Ans 21 Chosen Option : 3
o P

x2 21

60

x3 21

20

Question ID : 9864492128
Status : Answered

W 4
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Q.4

7% W ereEs TR w1 At o s & sad A9 G wie @ e
ofea & € 1

Question ID : 9864493787
Status : Answered
Chosen Option : 1

@&

T TN o 2G TIFEH H Ao F B 3R 7w w7 g o
HeHTeT:

1. 3FTE AR FrEg T FE @el

2. Rl & Femsdr = 7gr off |

Consider the Argument and decide which of the given assumptions is (are) implicit.

Argument:
The present government had reduced the base price for auctioning for the 2G spectrum.

Assumptions:

1. Next time price will reduce further.
2. Last time the auction was not good.

e I 1 T &
Only assumption 1 is implicit

Ad 1 AR AE 2 Afka ®

Neither 1 nor 2 is implicit

3_134‘112@1#?%%3%

Both 1 and 2 are implicit
Faer A 2 Afka €
4.

Only assumption 2 is implicit

F !

x

x

v

Q.5

TATedl T SOfEaeTa §E 1 a9T W AT 395 e # e F o
Trafeaf@a # @ $i9 @ w2

‘Which of the following is necessary to maintain the number of individuals of species and
to prevent their extinction?

=THA
' Respiration
ER3IES
 Circulation
EECrl
’ Reproduction
EEIC)
: Digestion

K2

Question ID : 9864493338
Status : Answered
Chosen Option : 3

Q.6

Ans

WA 2018 & 9RT & I HAT HiT 87
Who is the Home Minister of India as of February 20187
v T N
Rajnath Singh

», T
Narendra Modi
| SATolr

X3 _
Arun Jaitley
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Question ID : 9864492317
Status : Answered
Chosen Option : 3
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Sushma Swaraj
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Q7 e i § & Teh a=7 § 95 o1 5% g § s e sk
et a=f ST 27
‘Which of the following gases makes bread or cake rise making them soft and spongy?
Ans X 1. H2
< 2.CO
v 5 CO,
X 4.0,

Question ID : 9864493529
Status : Answered
Chosen Option : 4

Q.8 (.0245 Fr TFH FUNOT BT F T F 3HF O T H Fo or@r smeem?

0.0245 written as a vulgar fraction in its simplest form = ?

Ans 9
1. —
x ¥

«'2 27

1100

X —

370

X“' 27

T 1111

Question ID : 9864492900
Status : Answered
Chosen Option : 2

Q.9 7= & & e Bl 7 § v% F AT tE A e & HFHIor
¥ 30 ReeT & 99+ & 5 @ C F By o ved Rew (?) #t 96 wHar

El

12\(8 16 7 25 21
i Y Y
A B C

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

12 8 16 ki 25 21

T 7Y

Ans X 1321
X 2. 241
V5184
X 4210

Question ID : 9864494209
Status : Answered
Chosen Option : 3

Q10 Shger Fr scafea & T H 3T & g Faa wefa
Oparin’s theory about ‘Origin of life” is related to:
Ans " TR
chemical evolution
X2 cICCACCors)
biological evolution

N sifae Terg

x . .
physical evolution
X 4 3
artificial evolution

Question ID : 9864493137
Status : Answered
Chosen Option : 2
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QMg Y XF g g, YZHRITEgA ZF A X Fawg ?

If Y is the brother of X, Y is Z’s son then Z’s father is X's

Ans
v alal
Grandfather

Father-in-law

X4w1qu§mrfﬂmm

Uncle

Www.facebook.com/superpathshalaﬂ

Question ID : 9864493809
Status : Answered
Chosen Option : 1

Q.12 A o & T Rl & @ 9w F e ' FAS 9o T SEIT S
#, 37 faoreT &7 Taa &Y & B C F f2v v maT RS (?) # 96d "ear

A

8 81 88
14 [ 12] 59 | » |

Assuming that the numbers in each of the following figures follow a similar pattern, select

the option that can replace the question mark (?) in figure C.

8 81 88
14 12 | 18] 9
A B c

Ans 3 1. 21
X 2 81
X 3 61
v 416

-
-
-

Question ID : 9864494208
Status : Answered
Chosen Option : 1

Q13 x2 + ax + b F T x- 4 AR FeenforT fomm ST # A 32 99 = # A
x2 + bx + a B FT x- 4 A e fFar FE § & 35 9 g=ar 2

a+b=7

Ifx? + ax + b, when divided by x - 4, leaves a remainder of 32 and x> + bx + a,

when divided by x - 4, leaves a remainder of 35, thena + b=7?

Ans «1__ 23
x27
<323
Ka-7

Question ID : 9864492977
Status : Answered
Chosen Option : 4

Q14 forg FFTeT FAC F AT o T o AT 2T

Which Mughal Emperor was deported to Rangoon by the British?

Ans @lﬂlgg 2 [
r 0 fie
Bahadur Shah III

TEIGT AE HGHG UG
Bahadur Shah Ahmed Shah
X3 dglgl AWe |

Bahadur Shah I

dglgl Mg oThI

Bahadur Shah Zafar

K2

v

Question ID : 9864492107
Status : Answered
Chosen Option : 4

Q.15
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Ans

gaﬂTga:rmﬁmﬁ;W%‘?

5 8.,
The sum ofg andgls:

X2

13

X222

40

X o2

40

vz

40

Www.facebook.com/superpathshalaﬂ

Status : Answered
Chosen Option : 4

Q.16 g frdr =7 & Ay 1 3 WEHART § o7 feam A1ar g 30 3mId 657
o7 YEHIET 96 AV O F Ui el H Hel oidrs el 87

If the edge of a cube is increased by 3 cm. the volume will increase by 657 cm®. What
then is the original length of each edge of the cube?

Ans

7 cm

Question ID : 9864493015
Status : Answered
Chosen Option :1

Q.17 fFr=faf@a & 6 e & v smevas =geas drdt @t & g F=r g2

Ans

o

The minimum number of straight lines required to construct the given figure 1s .

o

K112
V214
<313
K415

Question ID : 9864494111
Status : Answered
Chosen Option : 3

Q18 geprer T FaTeH EETd ohEe SaRT JeTaT foRa =TT o

Ans

The quantum theory of light was given by:

+

r 0 At
Einstein
edcal

Ko =
Newtion
e

X 3
Faraday

Question ID : 9864493123
Status : Answered
Chosen Option :1
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O ST &7 # ¥ B g &1 =399 F:1

Ans XT(I
V25
XB.*;[
P

Question ID : 9864494304
Status : Answered
Chosen Option : 3

420 256 & Fohde UGS IOT T §?

How many of the factors of 256 are perfect squares?

Ans x1_4
K23
x36
s

Question ID : 9864492824
Status : Answered
Chosen Option : 1

O Fm & & T amgpfaEl # @ e F oTEa A

Question ID : 9864494332
Status : Answered
Chosen Option : 3

L]

1 2 3 4
Select the odd figure out of the given series.

LT
1 2 3 4
Ans x1.1
X23
V4
K42

Q.22 2017 & wfEe dgasd aai dlshfdd f&u 1w v Usiss 09 1 e a1 g2

‘What is the name of the new Android App that has been launched by Sachin Tendulkar in
2017?

FB Group: SSC Railway GK Aptitude

Question ID : 9864492420
Status : Answered
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Ans

Aamchi Mumbai
100 wasEr
100MB

afeT

Sachin

X 4 TH.IRCL

SRT

.8

v &)

< 3

www.facebook.com/superpathshalaﬂ

Chosen Option : 4 J

Q.23 RT T Foraeai HF § A 5K Tor #9797 F &F e T (@) Feew

Ans

TFE F THETT T F HTEOT (FAA §) A B
TFAE:
e ws% wsfEar &1 wh wsfEar aa #
forssd:
1. gl 93 7% 2
2. weft =% deT 2

Consider the given statements to be true and decide which of the conclusions logically

follow(s) from the statements.

Statements:
All boys are girls. All girls are monkeys.

Conclusions:
1. All monkeys are boys.
2. All boys are monkeys.

aer TSR 2 3TEROT FRT B

Only conclusion 2 follows.

2 Fael sy 1 AT HLT g

| Only conclusion 1 follows.

|1 3R 2 2 e e
Both 1 and 2 follow.

1 3R 2 2t sregwor 7@ w

Neither 1 nor 2 follows.

v &)

x

x

x

Question ID : 9864494017
Status : Answered
Chosen Option :1

Q.24 fer 7T AR WA AR F F ANT & WA Foll AT & TAAS

Ans

37ETET BT §7?

‘Which Indian nuclear scientist is currently the chairman of the Atomic Energy
Commission of India?

X HATdA AT
Madhavan Nair

| AN A

R. Murugesan
| e, foRor FAR

x

>~

A.S. Kiran Kumar
" IWT &Y

Sekhar Basu

Question ID : 9864492365
Status : Answered
Chosen Option : 3
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Q25 37 feed & T8 H o e FAE & FAOT @ g Question ID : 9864494367

Status : Answered
Chosen Option : 3

AXS|=00|s=Cc|0=0
Oso|cos|O-a| %0

A B C D
Select the option that does NOT belong in the following figure series.

Axs|-00|s-c|0=0
Dso|cos |O-a (k%0

A B C D
Ans X1_D

X 2B

X3C

v A

Q.26 =/ F5 T5g, o« H faw F 1 Ay H gl W IN 990 F @0 Fod § A _ .
farT 71T ST &7 AT haer 27 Question ID : 9864493421

‘What is the amount of work done when a body moves under a force of 1N at a distance of Szl Slalan el
Imetre in the direction of the force? Chosen Option : 2

Ans 100 JoH
K o~
100 Joules

10 @

K2
10 Joules
1 STed

1 Joule
0.01 S[ed

v &3

X 4
0.01 Joules

Q.27 gfy =3 x3451, 3 ¥ Tosmr=r § @7 x U 3F § O x F Hfr HoT AT
T FAT B HeRAT £7

If the number x3451 is divisible by 3, where x is a digit, what can be the sum of all such
values of x? Chosen Option :2

Ans x1. 16
V215
X311
X 414
Q.28 wiger & Ao HATw EAT IIT G A 2016 & Fgeter H SN H

ST FT @ For e wr am Question ID : 9864492269

‘Which team won the 2016 Champions Trophy Men’s Hockey tournament defeating India StaiisiAnswored
in the finals in London? Chosen Option : 3

Ans -

1 EESCEL: )
Netherlands
AT
TUSA
v &3 <

Australia

Question ID : 9864492664
Status : Answered

X2
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T

Spain

X4

Q.29 FrAfaaT sl & & s v vude & aig T dRwaa far iy

In which of the following examples will an athlete have maximum accelerated motion?

Question ID : 9864493560
Status : Answered

Ans x 1 Tsh HWUTI'JWHTETEFIT Chosen Option : 3

Running on an octagonal track
TeF HTASTHIT T2 9T El=am
Running on a rectangular track
Teh YEehIUTTT J2r 9T gigar
Running on a hexagonal track
Teh JedhR 92 9T &g
Running on a circular track

X2

X3

W 4

Q30 1 e % #1 A 5 ¥ o g &, e e Bt Question ID : 9864492861

The sum of two fractions is % One of them is 2 What is the other fraction? Status : Answered
Ans 1 Chosen Option : 4
-
5

X2
X 3.
W 4

= | b |-1|
M|"" o | "

Q.31 eafey Fr T, S ST SfAfT @ oRoTE @ ¥, S ar S S £
The repeated reflection that results in persistence of sound is called:

Question ID : 9864493584
Status : Answered

Ans x | gﬁ-’rﬁa Chosen Option : 4

reflection
[ELEICTU
rarefaction

giaeafa

reverberation

< 2

v &)

<.
echo

Q.32 greafaaat A 3T B 3T T 16 T F1 7L E| 6 95 9@, 72 FTad H HF B )
? 2 Question ID : 9864492473

ST Y 3 T o1 A B F W FH g Aoy afFT F oy B dr Status : Answered
The ages of A and B differ by 16 years. If 6 years ago, the elder one was 3 times as old as Chosen Option : 2

the younger one, find the present age of the younger between A and B?

Ans x 113
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X 4 1539
15 years
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Q.33 22 Hiex go T TF AR T F qeF & 2 Hex S weF w@wE 7 F A

Ans

3% wFas HT =ies F waEew 3 T o9
T HieT F & @ TH HSF U S oA T T FAT HEED

A square park having a side 22 m has two roads each 2m wide running in the middle of it
and parallel to its length and breadth. What will be the cost of gravelling the path at the
rate of ¥ 100/m??

X 1T 88
v 2 T 8,400
X 3 T 8,800
K4 T4

Question ID : 9864492834
Status : Answered
Chosen Option : 4

Q.34 A 3kt B ey & &t 20 Tt & @A 3 wFa §, B 3t € Mot 30

Ans

At 7 Fafe C 3t A feeT 24 foa 3 g =3 1 B 3k ¢ v
HERT T e Rt F 18 AT FEr
A and B can complete a task in 20 days, B and C can complete it in 30 days while C and A

can do the same task together in 24 days. How many days will each of B and C take to
complete the task individually?

x ;. 54 3kr 72
534 and 72
56 3T 64
56 and 64
48 3T 80
48 and 80
50 3T 54

50 and 54

<2

3

X 4

Question ID : 9864492689
Status : Answered
Chosen Option : 2

Q.35

Ans

TISEIgIATST T &2
Phytohormones are:
F !
QMR WeRaT3iT & Ffaa e arer it ZanT Byl mamss
regulators synthesised by plants influencing physiological processes
W2
YeRTeT H2oNUT 3 faT seaaATe f353r = Jret gareh

substances used for photosynthesis

X 3
B o fore saaTe Y S arer e

chemicals used for peeling

< 3T ot et arer verey

substances controlling diseases

Question ID : 9864493096
Status : Answered
Chosen Option : 3

Q.36
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Question ID : 9864494351
Status : Not Answered
Chosen Option : --
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T 71T g Fr gAET it gw T & 39 gae = = & F e AR
FT P FUT AT £l

C2EH

() 0 =fT =t TEfaE FEAd quie Fgar |
(I quites Srpfas FEarst & e g § |

Consider the given question and decide which of the following statements is sufficient to

answer the question.

All natural numbers are whole numbers?

Statements:

(I)  All natural numbers plus 0 are called whole numbers.

(I)  Whole numbers are different from natural mumbers.
F !

99 & 3ca? & & v (1) 3T (1) = & gaeg g

Both (I) and (II) are sufficient to answer the question.

2
AT &1 5= 3 F T 3 () T § SEiE 3 (1) T3 S8 A
(I) alone is sufficient while (II) alone is not sufficient to answer the question.

X 3
WA A FEE e F e aa (1) 7 & () @ g

Neither (I) nor (II) is sufficient to answer the question.

X4
HaTel &1 /&1 & % T 3dker (1) aiea § stefeh 3eher (1) TaicT =87 &

(IT) alone is sufficient while (I) alone is not sufficient to answer the question.

www.facebook.com/superpathshaIaA

afe; @Her ar § 50 Hiex gfgioraf¥as 8, it Jer far & 50 e gforgd
&, ot TeT SEen & ToEe & o fear & £2

If Kamala is 50 m south-west of Neeta, and Rita is 50 m south-east of Neeta, then Rita is
in which direction with respect to Kamala?

x 1 Fea-afead
North-west
o T
North-East
EIEE
West

(4.‘:":&

East

K 3.

Question ID : 9864494362
Status : Answered
Chosen Option :1

Q.38

Ans

Sig 3T el & st 1 @ o 3 5:8 § st o iR et & =
I 7:12 B S 3 Sl & S @ s = g

The ratio of the number of marbles that Joyee and Minati had was 5 : 8 while the ratio of
the number of marbles that Jacob and Minati had was 7 : 12. What is the ratio of the
number of marbles that Joyee and Jacob had?

K1T:s
K257
v 315:14

FB Group:
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Question ID : 9864492705
Status : Answered
Chosen Option :2
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Q.39 fFAT-FIeIdT Fefot AT AT FiT §, S FAAT A IFHCER, (@) &
dleae "erd §7

‘Which actor-turned-politician is currently a Lok Sabha Member from Ahmedabad (East)
constituency?

Ans x1ﬂﬂ?“r

Dharmendra
o, o

Hema Malini
Vs T Tae

Paresh Rawal

e f@egr

Shatrughan Sinha

X4

Question ID : 9864492321
Status : Answered
Chosen Option : 4

Q.40 gFaer 'H1S § @l AF T HA § AT IRE F 2017 A O o
‘Which Indian economist wrote the 2017 book ‘I Do What I Do’?

Ans
1 AT Tl
Urjit Patel

x 3 AdARE g
Manmohan Singh

v & H
Amartya Sen
TEH Tt

X 4
Raghuram Rajan

Question ID : 9864492278
Status : Answered
Chosen Option :2

Q-“am;ammﬁrmﬁmqﬁ#rmaﬁwm%?

What is the number of atoms constituting a molecule known as?

Ans v TIHATUTRAT (Atomicity)
Atomicity
x o, TATOEE
Atomic number

x5 HEOET (Isotopes)

Isotopes
X 4 UIHTUSS gedATd

Atomic mass

Question ID : 9864493047
Status : Answered
Chosen Option :1

Q.42

FB Group: SSC Railway GK Aptitude

Question ID : 9864494278
Status : Answered
Chosen Option : 2
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Ans

T T R Rk T T A s s e =g
FT W FueT 2T B

EEH
POR % o wrg &= §7
EEGEH
1. ABC, BCD # g2fiam &; DEF, EFG &I gaifar &1

2. LMN, MNO = z=ifar & OPQ, PQR &I gifar &1
Consider the given question and decide which of the following statements is sufficient to

answer the question.

‘What is the code for PQR?

Statements:

1. ABC represents BCD; DEF represents EFG.
II.  LMN represents MINO; OPQ represents PQR.

v )
BT I T T e & & @ ar ar 1 ar 2 93eg 21

Either I or IT is sufficient to answer the question.

<2

fET 9T 927 FT 3o oo & [OIT 2 31Fel TAST g, Fai% 1 3ehell JATTT odr
gl

II alone is sufficient while I alone is not sufficient to answer the question.

K3

T T W F 3o & & AT 1 er wAg §, S9fF 2 3Rer AT g
2l

T alone is sufficient while IT alone is not sufficient to answer the question.

X4
T 91T wouT & 3o} & & w1 3k 2 @t gaea F

Both I and II are sufficient to answer the question.

www.facebook.com/superpathshalaﬂ

Q.43

Ans

RT v RBeedt & ¥ wafdg oreg &1 99 &HT:
JUMBUCKS : SKCUBMUJ = SHIPJACK :

Select the related word from the given alternatives.

JUMBUCKS : SKCUBMUIJ :: SHIPJACK :

# 1. KCASPHIS
v 2 KCAJPIHS
# 3 KCAIJPHS
X 4 KCAJIPHS

Question ID : 9864493851
Status : Answered
Chosen Option :2

Q.44

Ans

Waﬁwmhﬂﬂﬁmwmmmw% &1 e gicera A FifaT

The S.P of a washing machine is 1% of its C.P. Find the gain percent.
1
X1 662%
3
1
v'233%

< 3339
< 4 66%

Question ID : 9864492448
Status : Answered
Chosen Option : 2

Q.45
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20 N 7 T a1 U 78 1 2 e e s gar g sy 20 e 1 aw sl
Frma o
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Status : Answered
Chosen Option : 4

A force of 20 N displaces an object through 2 m and does a work of 20 J. The angle
between the force and displacement is:

Ans of 1. 60°
X 2 30°
X 3.90°
X 4 Q°

4 ATt F T FAT Faw & a0 H TgE|

Tdentify an example of a connective tissue in humans.

Question ID : 9864493055
Status : Answered
Chosen Option : 4

Ans m‘ hd
F !
Muscles

ar
Fibres

X2

Q.47 /= F TR GENT HOEAE e, e argett F & Rewer wra awt G
ST Hehdl?
Which of the following metals is NOT obtained by reduction using carbon?

Question ID : 9864493352
Status : Answered
Chosen Option : 3

Ans x13hg-r

Q.48 w ¢ & 140 HieT o wEwH F 15 ¥Fs # HR 180 Hex oy wews
Fr 17 @z # 9 & ol &= Fr A F=2 22

A train crossed a 140 m long platform in 15 seconds and a 180 m long platform in 17
seconds. The speed of the train was:

Question ID : 9864492730
Status : Answered
Chosen Option : 3

Ans X1 75 freirder 9fy o
75 km/h
x 2 69 fehreitdeT 9fa e
69 km/h
X3 66 fraltdIeT 9T e
66 km/h
s 72 e 9fy o
72 km/h

O 6 g OX AT T i sHeT vae:

Ice floats on water because its density is:

FB Group: SSC Railway GK Aptitude

Question ID : 9864493208
Status : Answered
Chosen Option : 1
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Ans X1_q1ﬁr1?r31ﬁ2|$§.ﬁm%

more than water
qTeAT & AT 2T &

same as water
«3_tnﬁrﬁmg‘|m%
less than water
x . TAATE

ZETO

Q50 gy T F Iaar # el i §E g &l Question ID : 9864493633

is the number of shells for elements of the 3¢ period. Status : Answered
Ans x 1. 1 Chosen Option : 1

X22
X530
V3

Q.51 fxw 71T gogey & T A1 = 3T 78 97 F F S7 @ (@) ey

(€ J

X2

Question ID : 9864494193
THACT H U THEIT T § FAFAOT (T &) F & Status : Not Answered

Chosen Option : --
TFAA:

o A T AN FS AARSA 1 T § o1 GEd a AT g
A=

1. T FHTT FEAT B
2. 3H B ¥ BT F1F ¥ TS FET 95T 2

Consider the given statement to be true and decide which of the given conclusions

logically follow(s) from the statement.

Statements:

All work and no play makes jack a dull boy.

Conclusions:
1: To work is important.

2: One has to compromise work for play.

Ane x1_13ﬂ12aﬁa§w3ﬁmﬁ|

Neither conclusion 1 nor 2 follows.

o TR 1 JFgERoT e B
| Only conclusion 1 follows.

e TRy 2 JFpEroT e E
| Only conclusion 2 follows.

1 3R 2 3 e & E

Both conclusions 1 and 2 follow.

x

v

x

Q.52
Question ID : 9864492468

Status : Answered
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e T 4% 1 g1fel T T 3,600 & 391 71T § 1 ARG 5T 4,200 F 5791 S1am o e l Chosen Option : 4 J
ST T gTfat BIciT?

A fan was sold for T 3600 at a loss of 4%0.What would be the gain or loss percent 1f 1t was
sold for T 42007

Ans x 1 g, 10%

Loss 10%

X 2 g1, 12%
Loss 12%
oI, 10%
Gain 10%
T, 12%

X3

v &

' Gain 12%

Q.53 57 TE WG F ThT B, SN HEATSAT I HRG g ¢

O)

Select the correct set that represents the following Venn diagram.

(® ©

Ans «1ﬂmmﬁrm€rm.m,?nﬁ

Question ID : 9864494260
Status : Answered
Chosen Option : 4

Flesh-eating animals, tigers, cows

| A W aTer S, &, 2R
Flesh-eating animals, tigers, lions

| I T T S, a5, S
Grass-eating animals, goat, buffalo

, I e are SR, e, fRa

Grass-eating animals, cows, deer

x

x

x

Q.54 =fy 10 0 F v g # 1.5 W B fegy uvr @ @l g A o Bee
# fremifiea F=1 1 AT A g

If a current of 1.5 A is maintained in a resistor of 10 Q, then the energy dissipated in the

Question ID : 9864493466
Status : Answered
Chosen Option : 3

resistor in 1 minute will be:

Ans X1 135 41
135 W

1350 91

1350 W
15 aTe

15 W

22.5 491
X 4
22.5W

Q.55 Fo M3 & 15 TeTOT 1 AT (434 + x) Bl TG 377sT &1 AT x &, A x F1 AT F7
gem?

The sum of 15 observations of a data is (434 + x). If the mean of the data is %, then the
value of x is Chosen Option : 3

Ans x 1. 25
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Status : Answered




www.superpathshala.com

X 2.33
X 327
v 4 31
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Q.56 =i U 3N Geg i cgewer A Afg dger 10 3N H#AH 10 el & 30w
3 20 TR yfarnds fFar S & 9gen e Ao e 3R ¥, Ad W
3faa & 9ge arer & 3R Aw s e & wfdrenfaa & o =i swarer
gIfgel 3 & gt 376 a4 gren?

RB75E%M3W48Q9#B2AMS

If the first 10 terms and the last 10 terms of the given expression are interchanged in such
a way that the first term is interchanged with the last, the second with the second last, the
third with the third last and so on, what will the fifth term from the right be in the new

arrangement?

RB75E%M3W48Q94%B2ASMS

Ans X1_2
<2 A
K35
v E

Question ID : 9864494098
Status : Answered
Chosen Option : 4

Q.57 ardT 77 & U 36, e Tear 1 2017 F fov e @ R @
FAATerT fomam amm @) fteR frw e & widg &2

Gurinder Chadha, a Britisher of Indian-origin, has been honoured with the Sikh Jewel
Award for 2017. In what line is Gurinder famous?

Ans v e faAoT
Film-making
., &8 (et
Athletics
aitwfer
Medicine
THRIAT
Journalism

X 3.

X4

Question ID : 9864492412
Status : Answered
Chosen Option : 4

Q.58 g 75,000 1 v THafa sarr 1 10% aifies e W e war §1oadf
F dme, AFH H T 1,655 3T 9red @ &l nh AW AT HL

Shams invested ¥ 5000 at 10% per annum compound interest. After n years, Shams
recetved ¥ 1655 more. Find the value of n.

Ans x1 43-#

4 years
3ay
3 years

X&lﬁ

1 year

X4_2a’€r

2 years

v &)

Question ID : 9864492626
Status : Answered
Chosen Option : 1

Q.59
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Question ID : 9864493881
Status : Answered
Chosen Option :1
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TRfET Hies ¥ 9ois & Fa9 TF a T H A A WAg a A
e ¥ TAC T A TR §

SIA O
I
O A

Use each of the following figures only once and form three groups. The three groups so
formed are:

SN0
1 dN
[ AT
Ans o' 1 (1,3,5), (2,6,8), (4,7,9)
X 2 (1,3,8), (2,7,8), (4,6,9)
(

(

< 3(1,3,5), (2,6,9), (4,7,8)
< 4(1,3,9), (2,6,8), (4,7,5)
Q.60 s 7T 3 T o TR # ¥ i W S e FHe
HiOHT (dfg) &2

India-born Sundar Pichai is the Chief Executive Officer (CEO) of which of the following
companies? Chosen Option : 1

CICIG]
Vi
Google
THAA
Amazon

Question ID : 9864492144
Status : Answered

Ans

X2

Q1 FsmF o F R I TR IS F et I AN T smFm 7 I
g

Nitin ranks 23rd from the top in a class of 42. What will be his rank from the last?

Ans x . 233‘1.’
23rd
x o, 250

25th

Question ID : 9864494347
Status : Answered

Chosen Option : 3

Q.62
Question ID : 9864493690

Status : Answered
Chosen Option :2
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few =TT vt weEh # Fefd I7A # Fod 9§ & T |
CLOUD : COULD :: SMILE :

Find the missing term for the related pair of letter clusters.

CLOUD:COULD:SMILE:_
Ans o 1 MILES

X 2 SILME

X s SLIME

X+ MILSE

www.facebook.com/superpathshaIaA

Q.63 T T EFT T AT FT 4 T H A Tl § | TN AT 37 & TG, $H WG &
e 3t o e R e | Sremer @ e s 3 o e e wEa R

Raghu’s tanker can fill a cistern in 4 hours. After half the cistern is filled, three more
similar tankers are opened. What is the total time taken to fill the cistern completely?

Ans X 2T 40 BT
2 h 40 min

le'aié:mﬁlaz
2 h 30 min

v

Question ID : 9864492592
Status : Answered
Chosen Option :2

Q.64;ﬁaﬁqma#wmﬂﬁ§qﬁuﬁwaﬁﬁw%aﬂﬂmﬁr¢&ﬁcmm
FT FHIOT HIRT FIAT B
FUT

FE T T TG TR F| FO wEHA 30 E

forsd:
1 o9 & F& T §
2 Fo NF & TS g

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:

No girl can jump. Some girls are swimmers.

Conclusions:
1. Male swimmers can jump.

2. Some swimmers can jump.

Ans - Faer sy 2 3TTEIT FAT §
1.

Only conclusion 2 follows
Faer sy 1 37TEIOT HAT §
2

Only conclusion 1 follows

3.;ra’r13ﬁt;r€rz$§mwm%

x

v

Neither 1 nor 2 follows
1 3R 2 2t e w4

Both 1 and 2 follows

x

Question ID : 9864493842
Status : Answered
Chosen Option : 2
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Q.65

Ans

Distribution of various Minerals in Human Body
Sodium

B
o=
Potasium.
0%
Calcium
5%
Iron

18%
Magnesiim
®lakium = Msgnesum s on s Potmim e Sodum

Distribution of various minerals in the human body- AT et & RfEes
Eetew # faaror

Calcium- Fiormam
Magnesium- HT=iifEras
Iron- =@r

Potassium- 9@
Sodium- FfETs

R amar e AT oliT # @A oA fEmmar #1 Be e
3FET & HTUW 9T, AT 0T & 91T ST arer Siewws v w@ifgas

N AU FAT 87

Distribution of various Minerals in Human Body
Sodium

™
o5
Potasium,
0%
Calcium
5%
Iron

8%
Magnesium

s Cacium wMagnesum s bon = Potmum e Sodum

The given graph shows the distribution of minerals in the human body.

Based on the given data, what is the ratio of calcium to sodium found in the human body?

K15
v24:
K32
K43

[ A N

Www.facebook.com/superpathshalaﬂ

Question ID : 9864494201
Status : Answered
Chosen Option : 1

Q.66 FATTA Y@WT & IN Fid & a1 I T O1Geh HET =6 F47 I@ar § ?

Ans

‘Why does a sprinter keep running even after crossing the finishing line?

r 0
IF T GARTT HT qgar ¢ 5 35 @ # IR W e g

He wants to make sure that he crosses the line.

<2
foerar #r S3ar 3% Vo & v o FHE o B

Inertia of rest takes some time to make him stop.
| FIfer BT STsAT 3 T dere gl

Inertia of motion keeps him moving.
< 4

3E% T A T & Hew o¥er SEE @ & A 9 0 FHT a4 |

Friction between his shoes and the ground causes him to move beyond the line.

v

Question ID : 9864493379
Status : Answered
Chosen Option : 4

Q.67 famfr aRwe Tl F A Hw v = S = S F A Ruge d

T R w7 F e o o 37
The two roots of an quadratic equation are given as x = gandx = _Tl The equation can

be written as:

FB Group

: SSC Railway GK Aptitude

Question ID : 9864493017
Status : Answered
Chosen Option :2
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A 1 (2x=1) (3x=2)=0
X2 (2x=1)(3x+2)=0
X3 (2x+1)(3x=-2)=0
Ka(2x+1)(3x+2)=0

Www.facebook.com/superpathshalaﬂ

Q68 sresfares smac AUl &, v TA-AE Y@ fRE st @ &2
In the Modern Periodic Table, a zig-zag line separates:

Ans - AT Fr geleEr d
1.
metals from halogens

, TGt FF AcagsE &
non-metals from metalloids

., aIgHT F ATAISH W
metals from metalloids

. aTg3t F TG &

metals from non-metals

x

x

v

Question ID : 9864493234
Status : Answered
Chosen Option : 4

% ged FR IIpias Ter §:
The hardest natural substance is:
F ! :
Copper

Ans

Question ID : 9864493211
Status : Answered
Chosen Option : 4

Q.70 55 fshed #1 I8 U = AR 3pfa # @ gdor afafde &

o
cWelo o 1

A B C D
Select the option that is the correct mirror image of the following figure.

Iy

o W ol Ulo !

A

Ans X1C
v A
X3D

FB Group: SSC Railway GK Aptitude

Question ID : 9864493922
Status : Answered
Chosen Option : 2
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Q7 37 e FT IO HL = 9T AT Repedr & BT 2
Select the option that is different from the remaining three alternatives.

Ans "1 XyZW
X 2. ghif
# 3. mnol
« 4 ponm

Question ID : 9864494357
Status : Answered
Chosen Option : 4

Q2 Rr T A R A R T i T s F v = & &
FIT ;N FuA =T 2l

oo
T a7 ATH #1147 B FheT 7w 7

F
1. md= o Ifew e TR §
2. Arg = 9t afFEr 257 §

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What day is the 14% of a given month?
Statements:

1. The last day of the month is Sunday.
2. The fourth Saturday of the month is 25%.

Ans x1_aﬂ?ﬁaﬁ:ﬂ1 HT 2 gt 2
Both statement 1 and 2 are sufficient.
T & FUS 1 gEeg £ AT 2

X2
Either statement 1 or 2 is sufficient.
X3
IHHET FUF 1 AT § T el FUT 2 F9ATT 2
Statement 1 alone is sufficient while statement 2 alone is insufficient.
o 4
ST FYUT 2 TATT ¥ TG e 1 FUT I3TTT B

Statement 2 alone is sufficient while 1 alone is insufficient.

Question ID : 9864493652
Status : Answered
Chosen Option : 2

o7 vagenrer & Revit $r wEar frae g 87

The number of diagonals in a hendecagon is:
Ans o 133
~< 239
# 340
X 4 44

Question ID : 9864492976
Status : Answered
Chosen Option : 1

Q.74 77 WFTE F6RIEE F T H 9 90T F AT F A=Ay G g g A
HITAT 3G T 872

‘What product is formed when electricity is passed through an aqueous solution of sodium
chloride?

o

Ans

T grEsEs
Sodium hydroxide
X2 E T :

Sodium oxide
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Question ID : 9864493050
Status : Answered
Chosen Option : 1
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Sodium and water
X4 afzga 3t ==

Sodium and chlorine

Q.75 frmfafEm gaer &, v few (2) 37 R v seER & 98 st § S [ SR P
| e =1e Rmedl ¥ safeu &l & 9 #1 veston =
Status : Answered

Chosen Option : 4

1-10, L-13, O-18, 2,7, X-25
In the following series, two terms are missing as shown by the question marks (?). Select
the missing terms from the given options.

I-10, L-13, O-16, 2, ?, X-25

Ans X1 R-8, U-12
X 2 H-8, J-10
X 3 K-11, M-13
v 4+ R-19, U-22
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